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Divisibility Rules

the last digit is even (ends with a 0, 2, 4, 6, or 8)
the sum of the digits is a multiple of 3 (3, 6, or 9)
the last two digits can be divisible by 2 twice

the last digitis a 0 or 5

it is divisible by 2 AND 3

the last three digits can be divisible by 2 thrice
the sum of the digits is a multiple of 9 (9)

the last digitis a 0




image2.png
By 3

Examples
2352 9024 1782
2+3+5+2 9+0+2+4 1+7+8+2
=12 =15 =18
1+2 1+5 1+8
=3 =6 =9

2352, 9024, and 1782 are all divisible by 3 because the
sum of their digits is a multiple of 3 (3, 6, or 9)

5321
5+3+2+1
=1
1+1
=2

5321 is NOT divisible by 3 because the sum of the digits is
NOT a multiple of 3.
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Examples
628 588
28/2=14 88/2=44
14/2=7 44/2=22

628 and 588 are divisible by 4, because their last two digits can
be divided by 2 twice.

718
18/2=9
9 cannot be divided by 2

718 is NOT divisible by 4, because the last two digits cannot be
divided by 2 twice.




